

MOCK QUIZ:2

Q1. Prove that signoid is a special case of softmax -

i). take a 2 days classification problem:

$$= \underset{coyer}{\operatorname{last}} \xrightarrow{a_1} - \underset{coyer}{\operatorname{softmax}} \xrightarrow{e} \xrightarrow{e}_{e^a_1} + e^a_2$$

$$frib((lass 1) = \frac{e^{\alpha_1}}{e^{\alpha_1} + e^{\alpha_2}} = \frac{1}{1 + e^{\alpha_2} - \alpha_1}$$

$$frib((lass 2) = e^{\alpha_2} = e^{\alpha_2}$$

$$e^{\overline{a_1}} + e^{a_2}$$
 $\frac{1}{1 + e^{a_2}} - e^{a_2}$

let
$$a_1 - a_2 = x$$

=> $loo(ulues1) = \frac{1}{1 + e^{-x}}$
 $loo(uluesa) = \frac{e^{x}}{1 + e^{-x}}$

Q2. <u>A Deep NN without non-linear activations és still quivalent to</u> <u>Lenear regression</u>

consider the following neural network with 2 layers:



It the ith neuron in the first layer:

$$\chi_{1} \otimes \chi_{1} + \chi_{2} \otimes \chi_{1}^{2} + \dots + \chi_{n} \otimes \chi_{n}^{2} = a_{1}$$

$$\Rightarrow a_{i} = \sum_{j=1}^{n} \chi_{j} \otimes \chi_{j}^{2} \longrightarrow 1.$$

$$b_{i} = W_{i}a_{i} + b$$

$$f = \sum_{j=1}^{K} w_{i}^{2}a_{i} \longrightarrow a.$$

$$f = \sum_{j=1}^{K} w_{i}^{2}a_{j} \longrightarrow a.$$

$$\begin{split} \hat{\mathbf{y}} &= \sum_{j=1}^{n} \sum_{i=1}^{k} w_{i}^{2} w_{ij}^{i} \mathbf{x}_{j}^{i} = \sum_{j=1}^{n} w_{i}^{2} w_{ij}^{i} \mathbf{x}_{j}^{i} = \sum_{j=1}^{n} w_{i}^{2} w_{ij}^{i} \mathbf{x}_{j}^{i} = \sum_{j=1}^{n} \mathbf{x}_{j} \sum_{i=1}^{k} w_{i}^{2} w_{ij}^{i} = \sum_{j=1}^{n} \mathbf{x}_{j} \sum_{i=1}^{k} w_{i}^{2} w_{ij}^{i} = \sum_{j=1}^{n} w_{j}^{2} w_{ij}^{i} \cdots w_{n}^{2} w_{n}^{2} w_{ij}^{i} \end{split}$$

This is equivalent to a linear reg. problem. We can say that by induction, it will work for multiple layers.

Q3 Domain of segmoid, tanh. write tanh in terms of segmoid.

i). Sigmoid
$$(x) = \frac{1}{1+e^{-x}}$$

ii). $tanh(n) = \frac{e^{x} - e^{-x}}{e^{x} + e^{-x}}$
Range : $(0, 1)$
 $tanh : (-\infty, \infty)$
 $tanh : (-\infty, \infty)$
Range : $(-1, 1)$

tanh in terms of sigmoid:

J

$$tanh(x) = \frac{e^{2} - e^{-\chi}}{e^{2} + e^{-\chi}} = \frac{e^{\chi}}{e^{\chi} + e^{-\chi}} - \frac{e^{-\chi}}{e^{\chi} + e^{-\chi}}$$

$$= \frac{1}{1 + e^{-\chi}} - \frac{1}{e^{2\chi} + 1}$$

$$= sigmoid(a\chi) - sigmoid(-a\chi)$$

4. Input size (3ax3ax6) {image}, train for 100 class classification i) layer 1 -> 200 newrons, Relu ii) layer 2 → 120 ne mons, : Number of params (eageri) iii) 100 dars darsetication. $= \left(N_{i-1} + 1\right) N_i = 0$ steps in the borward pars: i). flatten the emoge, each image has 32x32x6 = 6144 data prints (i). layer1: 200 nerron: each new on will have 6144 parameters along with a bans term. Thus each neuron has: 6145 parameters > Cayer 1 has 200x6145 = 1229,000 parametels. (ii). Reludoes not have any parameter. (il). layer à : 120 neurons -> input to this eayer will have a see of 200 -> Thus each neuron will have a of params (with burs) -> layer à has 120x201 = 24120 parame. iv). Output layer: 100 neurons (100 class charsification). -> input will be of size 120, each newon will have 121 params. -> layer 3 has 100 ×121 = 12100 params. => total number of params = 12100 + 24120+ 1229000 total params = 24,94,220

Q5. Derive the vertorized form of gradient descent for Cognitic reg.

$$\dot{y} = \frac{1}{1 + e^{(x+0+b)}}$$
 \therefore sigmoid.

loss function:

$$L(\hat{y}, y) = -y \log \hat{y} - (i - y) \log(i - \hat{y})$$

Now $\frac{dL}{d\theta} = \frac{dL}{d\hat{y}} \frac{d\hat{y}}{d\theta} - \frac{1}{1}$

Binary Classification Case

> : ý is not a veltor in this case

$$\frac{d c(a)}{d c} = c(a) \times (1 - c(a))$$

$$c' = c(1-c)$$

$$\begin{array}{l} \overbrace{i} \overbrace{l} \underbrace{d\hat{y}}_{d\theta} = d\left(\underbrace{c} \left(x^{T\theta} + b\right)\right) = \\ \overbrace{d\theta}^{T} \underbrace{g\left(1 - \hat{y}\right)}_{d\theta} \cdot \frac{d\left(x^{T\theta} + b\right)}{d\theta} \\ = \\ \overbrace{i} \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}_{\theta} \underbrace{d\left(0^{Tx} + b\right)}_{\theta} \\ = \\ \underbrace{g\left(1 - \hat{y}\right)}$$

$$\frac{Sub 3,2 \text{ in 1}}{dL} = \hat{y}(1-\hat{y}) \times (1-\hat{y}) - \hat{y}_{1-\hat{y}} - \hat{y}_{1-$$

with the entire Juta Set

 $\begin{array}{l} x \rightarrow complete \ \text{detaste} \\ \hat{\Psi} = \sigma \left(x \theta \right) \\ \Psi \\ \text{vector} \end{array}$

loss function = $J(\theta) = \frac{1}{m} \sum_{i=1}^{m} -y_i \log y_i^2 - (1-y_i) \log (1-y_i^2)$

$$= \frac{dL}{d\theta} = \frac{1}{m} \sum_{i=1}^{m} (y_i - y_i) (x_i [i, :])^T$$

$$\int (y_i - y_i) (x_i [i, :])^T$$

$$\int (y_i - y_i) (x_i [i, :])^T$$

$$J(0) = \frac{1}{m} \sum_{i=1}^{m} \frac{1}{m} = (0)t$$

$$J(0) = \frac{1}{m} \sum_{i=1}^{m} \frac{1}{m} = \frac{1}{2}t$$

$$\dot{y} = \frac{1}{1 + e^{-(x^T \Theta + b)}} \quad \therefore \text{ sigmoid}$$

loss fun Ution

$$L(\hat{y}, y) = -y \log \hat{y} - (1-y) \log(1-\hat{y})$$

Now $\frac{dL}{d\theta} = \frac{dL}{d\hat{y}} \times \frac{d\hat{y}}{d\theta} = 1$.

$$\frac{dL}{db} = \frac{dl}{d\hat{g}} \times \frac{d\hat{g}}{d\hat{b}}$$

$$\frac{dy}{db} = \frac{d(c(x^{2}0+b))}{db}$$

$$= \hat{y}(I-\hat{g}) \times \frac{d(n^{T}O+b)}{db}$$

$$=$$
 $\hat{\mathcal{Y}}(I-\hat{\mathcal{Y}})$

$$\frac{dL}{db} = \frac{3(1-g) \times \frac{dL}{d\xi}}{\frac{d\xi}{g}} = \frac{3(1-g) \times \frac{dL}{d\xi}}{\frac{d\xi}{g}} = \frac{3(1-g) \times \frac{dL}{d\xi}}{\frac{d\xi}{g}}$$

)

1

dL = G-y ~> for the contaset SdL_i db $m \cdot r$ $S Y - g_i$ i=1d1 526

Q.6. Entropy = - Epilog(Pi) i=(to cross forms Decision Trees

Evitupy (for 2 classes) $-P_1 \log P_1 - P_2 \log P_2$

 $Cross - Entropy = -\sum_{i=1}^{K} y_i \left[og(\hat{y}_i) \right]$ t 1 Cross tenns

Logistic Regression

(for 2 classes) = $-y \log \hat{y} - (1-y) \log (1-\hat{y})$

Q.7.] D Extremely sparse embeddings for large vocabularies (wasteful) Q = [10000 -----7]

- 2. 1-hot encodings make each Embedding orthogonal (independent and unvelated)
 - · We ifeally want embeddings which capture the semantics /

ONSO)

How do we solve this ????

 $Q.8.] = \sum_{i=1}^{n} (y_i - \hat{y}_i)^2$ $\hat{\mathcal{G}}_{L} \simeq \mathcal{O}\left(\mathcal{O}^{\mathsf{T}}\mathcal{O}\right)$

Why don't we use Squared Error?

(1) Squared Error is not convex. (Difficult for GD to reach global optima. May get stuck in local optima.)



We generally want to optimize convex functions

Using Gradient Descent. > For a Annation of I variable, if the 2nd berivative is non-negative in the domain. the function is convex in the domain

-> Quick test for Convexity - A line joining any the points on the Curve must lie above the curve.

 $\begin{array}{c} \textcircled{2} \\ MSE \\ doesn't \\ penalize \\ much \\ even \\ for \\ \end{tabular} even \\ for \\ \end{tabular} even \\ \end{tabular} even \\ \end{tabular} for \\ \end{tabular} even \\ \end{tabular} even \\ \end{tabular} for \\ \end{tabular} even \\ \end{tabular} e$

Q. g. J. For N data points and K classes,

Multi-class = NK Cross-entropy it k=1 K=1



 $\left[055 = (-1)\log(0.8) - 0\log(0.1) - 0\log(0.1)\right]$ $+(-0|_{\text{eq}}(0:3)-|_{\text{eq}}(0:3)-0|_{\text{eq}}(0.4))$ $- (\log (0.8) + \log (0.3)) = - (\log 0.24)$ $= \log (25)$

(Q, 10, -) $(E(P, y) = \int -\log(P) i f y = 1$

;4 y = 0

 $-\log(1-p)$



if y=1 $P_t = \int_{(I-p)}^{P_t} P_t$ (7 y = 0

 $CE(P,Y) = CE(Pt) = -\log(Pt)$

 $Consider FL(P+b) = -(1-P+b) \log(p+b); b>0$

 > Why is CE (pt) not well-suited for imbalanced tatasets (Eq. Cancer telection)??
 • Biased towards majority class
 > Can Focal Loss (FL(pt)) help here ??

How ??

f = J X_{t} > In practice, if y=0

`X' is a hyperpavameter. 2 Can be tuned (S) is a hyperparameter.

 $\Rightarrow FL(p_t) = -\alpha_t (1 - p_t)^{\delta} \log(p_t)$

(used in practice.)

Answer. When pt is high (easily classified samples from the majority class), the (1-P+) townscales the loss contributed by such majority class samples, but when Pt is low, there is lesser townscaling => more for minimum min

Q2: mare the linear activition - continuation.

 $= \sum \omega_{i}^{2} \omega_{i}^{4} \left(\sum_{j=1}^{n} \chi_{j} \omega_{ij}^{(j)} \right)$ $+ \omega_{i}^{2} b$

 $\sum_{ij=1}^{2} \omega_{i}^{2} \omega_{i}^{3} \sum_{j=1}^{n} \chi_{j} \omega_{ij}^{2} + \omega_{i}^{2} b$



 $\sum_{i=1}^{n} \chi_{i} \left(\sum_{i\neq j}^{m} \omega_{i}^{2} \omega_{j}^{2} \cdots \sum_{j\neq j}^{n} \omega_{j}^{2} \omega_{j}^{2} \cdots \sum_{j\neq j}^{n} \omega_{j}^{2} \omega_{j}^{2} \cdots \sum_{j\neq j}^{n} \omega_{j}$

J. W.